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1 Device Information

Tested Device:

* Model Number: STEC MACH16 M161SD2-200UCP

« Serial Number: STM00014A3C7

» Firmware Revision: 00000289

* Media Serial Num: STEC MACH16 M16I1SD2-200UCP

* Media Manufacturer: STM0O0014A3C7

« device size with M = 1000*1000: 200049 MBytes (200 GB)

2 Setup Information

Performance System:
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» TKperf Version: 1.1

* Fio Version: n.a.

* Date of test run: n.a.

* Number of jobs: 2

* Number of outstanding 10s (iodepth): 16
Operating System:

* Kernel Version: n.a.

« Description: Ubuntu 12.04 (manually added)
3 General Information

» workloads: The percentage of read operations in the random mixed workload. In the plots the term
"100/00" means 100% read and 0% write, "95/5" 95% read and 5% write, and so on.

* block sizes: The block size of Fio to be used for IO operations.
» measurement window: Those rounds, where the dependence variable became stable.

 dependence variable: A specific type of test variable to determine the steady state.

3.1 Steady State

The Steady State is to determine if a test has reached a steady performance level. Each test has a
different dependence variable to check if the state has already been reached. To check for the steady
state the performance values of a test measurement window are taken (the last 5 rounds). The steady
state is reached if:

» The maximum data excursion is less than 20% of the average in the measurement window.

* The slope of the linear best fit line is less than 10% of the average in the measurement window

If these two conditions are met the steady state has been reach for the specific dependence variable.
Therefore the test can be stopped and the performance values of the measurement window can be taken
for the measurement plots. If the steady state has not been reached after a maximum number of rounds
the test can be stopped as well. The numbers for these two variables are:

* Measurement Window: 4

* Max. number of rounds: 25

4 10PS

The IOPS test consists of looping over the following parameters:

Make Secure Erase
Wor kl oad | nd. Preconditioning
Wil e not Steady State
For workl oads [100, 95, 65, 50, 35, 5, 0]
For block sizes ['1024k', '128k', '64k', '32k', '16k', '8k', '4k', '512']

Each combination of workload and block size is carried out for 60 seconds using direct 10. The average
number of read and write IOPS is measured and summed up, therefore 56 values are the result of the two
loops. After these loops are finished one test round has been carried out. To detect the steady state the
IOPS of 4k random write are taken.
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» Dependent Variable: 4k block size, random write
4.1 Steady State Information

Steady State has been reached:

e True
Steady State has been reached in rounds :

*[1,2,3,4,5]
Values in stdy measurement window:

* [5931, 6719, 6337, 6619, 6437]
Average in stdy measurement window:

* 6408.6

4.2 Measurement Plots

I0OPS Steady State Convergence Plot
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The Steady State Convergence Plot shows the reached IOPS for all block sizes of
random writes over all rounds.
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IOPS Steady State Verification Plot
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The Steady State Verification Plot shows the measured IOPS of 4k random writes, the
20% average window and the slope of the linear best fit line in the measurement
window.

IOPS Measurement Plot
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The Measurement Plot shows the average of IOPS in the measurement window. For
every workload the IOPS of all block sizes are plotted.
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I0PS 3D Measurement Plot
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The Measurement 3D Plot shows the average of IOPS in the measurement window.
For every workload the IOPS of all block sizes are plotted.

4.3 Measurement Window Summary Table

Average IOPS vs. Block Size and R/W Mix %

Block Size wid. -

! 100/0 95/5 65/35 50/50 35/65 5/95 0/100
512 19955.4 13104.4 6648.2 7708.6 8904.0 7327.4 6481.0
4k 16180.0 11814.4 6102.8 7053.0 8337.8 7005.6 6408.6
8k 10680.0 10231.0 5309.0 6109.0 7116.6 6728.4 6400.2
16k 4477.2 5942.2 4129.2 4039.4 4587.2 3575.2 3607.2
32k 3546.4 3818.2 3348.6 3302.8 3232.4 1872.2 1939.6
64k 1848.0 1963.0 1773.6 1748.8 1725.2 1220.8 1152.6
128k 928.0 993.2 895.6 884.2 884.2 762.2 708.6
1024k 105.2 109.8 103.8 103.4 99.0 85.0 80.6

5 Throughput
The throughput test consists of looping over the following parameters:
For bl ock sizes ['1024k', '64k', '8k', '4k', '512']

Make Secure Erase
Wil e not Steady State
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Sequential read
Sequential wite

For each block size sequential read and write is carried out for 60 seconds using direct 10. The number of
kilobytes for read and write is measured, therefore 2 values are the result of one round. To detect the
steady state the throughput of 1024k sequential write is taken.

» Dependent Variable: 1024k block size, sequential write

5.1 Steady State Information

Steady State has been reached:

* True
Steady State has been reached in rounds :

*[0,1,2,3,4]
Values in stdy measurement window:

*[1121335, 111358, 111316, 111192, 111300]
Average in stdy measurement window:

»111300.2

5.2 Measurement Plots

TP R/W Steady State Convergence Plot
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The Read/Write Steady State Convergence Plot shows the bandwidth for all block sizes
of seq. reads over all rounds. On the top the write throughput is plotted, below the
throughput for read.
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TP Steady State Verification Plot
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The Steady State Verification Plot shows the bandwidth of 1024k seq. writes, the 20%
average window and the slope of the linear best fit line in the measurement window.

TP Measurement Plot
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The Measurement Plot shows the average bandwidth of reads and writes in the
measurement window. For all block sizes the seq. read and write bandwidth is plotted.

5.3 Measurement Window Summary Table
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Average MB/s vs. Block Size and R/W

Block Size | Read Write
1024k 123.211 108.692
64k 132.904 118.883
8k 110.89 99.582
4k 54.605 46.97
512 7.122 4.475
6 Latency

The latency test consists of looping over the following parameters:

Make Secure Erase
Wor kl oad I nd. Preconditioning
Wil e not Steady State
For workl oads [100, 65, O]
For bl ock sizes ['8k', '4k', '512']

For all block sizes random read, a 65/35 read/write mixed workload and random write is carried out for 60
seconds using direct 10. For every combination the Min, Max and Mean Latency is measured. After these
loops are finished one test round has been carried out. To detect the steady state the mean latency of 4k
random write is taken.

» Dependent Variable: 4k block size, random write mean latency
6.1 Steady State Information
Steady State has been reached:

e True
Steady State has been reached in rounds :

*[0,1, 2,3, 4]
Values in stdy measurement window:

* [148.812311, 146.122024, 137.746358, 144.39387, 137.931644]
Average in stdy measurement window:

» 143.0012414

6.2 Measurement Plots
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LAT Steady State Convergence Plot
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The Steady State Convergence Plot shows the mean latency for all block sizes of
random read, mixed workload and write.

LAT Steady State Verification Plot
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The Steady State Verification Plot shows the mean latency of 4k random writes, the
20% average window and the slope of the linear best fit line in the measurement
window.
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LAT 3D Measurement Plot

The Latency Measurement 3D Plot shows the average latency on top and the max
latency below it. For the measurement window every workload including all block sizes
is plotted.

6.3 Measurement Window Summary Table

Average Latency (ms) vs. Block Size and R/W Mix %

Block Size | wid. - 0/100 65/35 100/0
8k 0.169 0.35 0.691
4k 0.143 0.285 0.306
512 0.12 0.24 0.194

Max Latency (ms) vs. Block Size and R/W Mix %

Block Size | wid. - 0/100 65/35 100/0
8k 124.041 36.326 335.412
4k 127.373 25.825 48.715
512 155.116 48.859 2.359

7 Write Saturation

The write saturation test consists of looping over the following parameters:
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Make Secure Erase
Wiile not witten 4x User Capacity or 24h
Carry out randomwite, 4k block size for 1 nminute.

For 4k block size random write is carried out for 60 seconds using direct |1O. For each round (60 second
window) the write IOPS and latencies are measured. Also the total written 10 is measured to check if 4x
capacity has been written.

As no steady state detection is necessary there is no dependence variable.

7.1 Measurement Plots

Write Saturation Test
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The Write Saturation IOPS Plot shows the average IOPS of 4k random writes over all
rounds.
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Write Saturation Test
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The Write Saturation Latency Plot shows the mean latency of 4k random writes over all
rounds.
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